Present Simple

Shit Rule

she - he - it = werkwoord + s




Present Simple

¢ Rule: he/she/it-> verb+s

Example:
I walk to school every day.
You walk to school every day.

walks to school every day.
walks to school every day.
walks to school every day.

walk to school every day.
walk to school every day.
walk to school every day.




Present Simple: smile

| often smile.
You often smile.

He often smiles.
She often smiles.
It often smiles.

We often smile.
You often smile.
They often smile.




Present Simple: study

| study English.
You study English.

He studies English. Y — IES
She studies English. Y — IES
It studies English. Y — IES

We study English.
You study English.
They study English.




Present Simple: kiss

| kiss my sweetheart.
You kiss your sweetheart.

He kisses his sweetheart. kiss—> kisses
She kisses her sweetheart. kiss=> kisses
It kisses its sweetheart. kiss—> kisses

We kiss our sweetheart.
You kiss your sweetheart.
They kiss their sweetheart.




Present Simple: go

| go to school by bus.
You go school by bus.

He goes school by bus.  go - goes
She goes school by bus. go - goes
It goes school by bus. g0 —> goes

We go school by bus.
You go school by bus.
They go school by bus.




Present Simple

o0 Verb +s - he /she / it walks

0 Study + s - he /she /it studies

0 Kiss+s —> He /she /it kisses

0 Go+s - He/she/itgoes



